N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

g g g g
Q Q [} g
< S g g
[ (0] Q
B 3 g
a
=]
k=]
[ |2
0.95] 0.95)
05 =55-15-10 =5 0 5 10 15 20 25 OB =30-16-10 5 0 5 10 15 20 25 05 =56-15-10 =5 0 5 10 15 20 25 5 =20-16-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 2 - 2 R -
S S S 51
g g g g
[ (0] Q
210 ® g
a
=]
k=]
° o °
5 P : g 5 o o :
o . . . o 14 . . . . .
TR F EORCRT EPPP PPEPECEPE eeee 1 L EEETEY EREPET FPRPE: EPRPE ST
055 0 10 20 30 %520 -i0 0 10 20 30 %520 -i0 0 10 20 30 %520 -i0 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


